1. Question: “3T FAT F8, T IV F3 F3 FYT AfGHNAAT (N (N F@ 3@ IE Fo JRA- 93
FAORTGFH FH (F?

A) @S AR

B) MeISE T2
C) Siaae= wrT
D) FT TS I

Answer: B) T3[F FRA1F

Explanation: - S&E 92 FRORTG3F I 20 FIG| Fo0 IR | IS FN F3, TS FX F3 I8 FAT
PG,

2. Question: IRAT NIR(SS ‘(STEF M’ I T FNE?

A) AR S5
B) FSCRE T

C) 9a64 fAwTsIrsrs
D) fR=1SeNe s=ae!

Answer: A) FRGAY 5154
Explanation: IR Mf2wes '(OWET T RN A6 RSt vame! | - Moo @@ fofar

FAGANT SF ROIE A0 | - TATAY ©NF IR S FIH-NHF ‘(1@ T I IFe FEA| -
IR MRSTE T3 Mfe-3F RoTE PifFfte RIS b3t 97 T v bot AEE ¢ (T FaFeR|

3. Question: IRAT WIR(ST S YH AGIFTF AD© ACITE (FTAG?

A) ST (RS
B) GRS (ST
C) ArFe1

D) I8 FTA!
Answer: A) ST (TTRAT
Explanation: « 5% SISl G0 61 FEA- iF TS @ICTT | - f6 TR TRCOTT 20w

R MOFE Ab© AOTTE | » FF TIEAS @O - fofT 9o 3, ALIFF 8 TwAseT! -
©IF IR ARSI TN NI SNF Fe77 27|

4. Question: (I IFF0 SF?



A) fafeSizr
B) SifeT=T
C) St
D) fRSifF=r

Answer: B) SIS

Explanation: » 8% @G '[ASIAFT | « [F6IFAF= SIfS; SHFd Aro=; ST BT | T IR IFWSHR
SN[ ] ASHTH |

5. Question: (F1F AN (FTAF ‘FFIT AN fFAT@7?

A) s {9t
B) Y FY T
C) (4 fra

D) X (S1yat

Answer: B) 23 91 5]

Explanation: « T3 (G131 (F IR 5w Bfere ifeq 736 3o 271 fof a3 =aanet ferares| -
SRS (558) TN (BIYAT s 78 Mizey Azl - 9% HA1 (379 9% T ROy 93
MiRfST 2w TS 8W |

6. Question: You should show good manners in the company of young ladies. -Which is
the appropriate phrase for the underlined expression above?

A) do not talk rudely
B) practise manners
C) behave yourself
D) behave gently

Answer: B) practise manners

Explanation: *Show good manners — ST A6 J [IZF To5a FATI TS T 3927 FA71 »
behave gently- ST TIZF FAT; * practice manners — T T &S 561 FAT; * behave yourself-
fe T5921F 47 ([ 38); » do not talk rudely- FEOTE LOTE T JCIT =71

7. Question: The invention of computer has turned over a new leaf in the history of
modern technology. -Which of the following is nearest in meaning of the italicized idiom
above?



A) Created a new history
B) began a new civiliztion
C) created a sensation

D) opened a new chapter

Answer: D) opened a new chapter

Explanation: « Turn over a new leaf- @4 =T8T SeLIAT| « DTS TQe AXTIF Y61 FAT| * Created
a new history- Tg+ 321 58 FW®| * Began a new civilization- F9d TeTOTF o1 FER|
Opened a new chapter- @ LTI oo FE®| * Created a sensation — TQd SGONHT HoaATH
S8 FEE

8. Question: Trying unitedly we were able to have our project approved against strong
oppositions. -Which of the following says nearly the same as 'against' above?

A) in the wake of
B) in the guise of
C) in the plea of

D) in the teeth of

Answer: D) in the teeth of
Explanation: « Against strong opposition- & AfeE AT | - 94T against- FI, A9,

3%, fAFeF| « in the wake of- (% (| « in the guise of — RA@TT 5| « in the plea of —
IG2I(E, FHI@ | *in the teeth of — 33 FF @, F1E o [@ERER FE®|

9. Question: Not many people can commit such a heinous crime in cold blood. -What
does the italicized idiom above mean?

A) stirred by sudden emotion

B) so patiently and thoughtfully

C) so impatiently and thoughtlessly

D) in cool brain and calculated thought

Answer: D) in cool brain and calculated thought

Explanation: ¢ In cold blood — E‘)‘[@TW SRS FE, I S@SNF| « in cool brain and
calculated thought- 13T AT a3% fFHFe Tam fB7=- |

10. Question: The condition of most slum dwellers is so miserable that it cannot be



described in words.- Which is the best phrase for the underlined expression above?

A) keeps open house
B) cuts to the quick

C) boils down to this
D) beggars description

Answer: D) beggars description

Explanation: + So miserable that it can not be described in words- 9® W5l (I S ST FAT
I8 | » beggar (s) description- IfAT6Te AT FofT F8F 7T | + cut (s) of the quick- I F& (W]
boil (s) down (to this) — S FAET, TF-HEFT 471

11. Question: TR REIRT (FF (SH AT ?

A) FfEsme

B) Rrmrenat
C) TS

D) EIGEIEER

Answer: B) Stamnat
Explanation: * W2sI fREAET: - AEAAIZIOR [RoNRARBO (ST I | - 4 (S o G REIE

TA®| - 3 (Se7F JRE REF2T GG (R TS 3 TS| - oo [T FIRTE TN 93 17
fRBAZAE T QAT SOT (AN 53 T @R

12. Question: ‘G STTE B (@ F0I7 (AT AIFe?

A) AT

B) t&ad

C) F157

D) =IfSITSBI

Answer: C) 751
Explanation: « wf3 ©Ie=if8 &1s1: - T3 37 {48 3[7 SNRTIIS IGATSIER S0 SO (RGBT

SO SRRAT G571 - aff STo-T5a FET IPEF SIPE AA3S AF2SD%0 T FTRFA
HfARTSH 77 SIS TaIF TRATH SIE IRATCTH TGN TiFel STeTsIfE JsT (ST 8

13. Question: ITSHY JFoTER 39S (32



A) TR T2
B) ©eld FAH

C) frg 39
D) SR (RIT

Answer: A) IR T2

Explanation: « TSI JA%® IRANCTR STe1y SJhewiy "sffere sxms /vy afzfes| « a7 39fs
TR SR (R |+ S593 T I573F, CT4 YFIF T30 Sroly Jrornwd f&fs o397 T 3@ 87
3T CTE fsfler 8% 27 329 S|

14. Question: IR (TFHF TYET (FINT AIF0?

A) BT

B) S¥aNS
C) T3
D) CTETESITS

Answer: A) BI3T

Explanation: « ST (1% 3 I e T - (TSI (IS ST TSI GIFT (¥F 38
NG & SAHe TRRASTE (ST (AT SHEH Ao |

15. Question: 5> NI AT (F1 AE ‘9T, G2 AN’ B T?

A) T3

B) lTe@od

C) stenferay

D) sTerSte

Answer: D) EISC

Explanation: 3077, 72 IS’ - 5559 TER & IR JGAEI FT% (V& [ g7+ 7§41 -

RF TNET (F@ F '9F (77, 12 BFE e TP 1 7T NF, B I AFE | - [F: 8 g 0z
(7T R ' BT FE S2»9 NI I ATHE 2089 ST 7G|

16. Question: AR JFANET TIAZAINOF I fofs F?

A) ST SRR FAT
B) fe@@E waiel 4T
C) TSl (FIFINT FHT FT



D) ‘SN (6 ST FAT
Answer: D) ‘SN &6 ST ST
Explanation: « JEAMEH TFEANS: - AT JEAEF TFABANOF 3} 63 NI STH Tl

FA11 - e - 7 aFrEE v A1 @ afde a3t aiafos 8 aNAfes 5103, I v La TETF v
SASTE 2T, MR, Ffersmza, Fomg ¢ MRS 7717 afefde 23

17. Question: FFASFTF FF (76 JSIEHF T 8 TNEF ST TRINH ROE TF1F FE&?

A) ST
B) F1ATGT
C) STRaT
D) SfassT =G A1fee a1 2@®

Answer: D) SfasTS

Explanation: 735 Jifee $a7 2@®

18. Question: SN TEE@ @F1T CTF NT FFT FSIEF ST ST FAT IE?

A) RIS
B) (TS

C) (G
D) iz

Answer: A) RIS

Explanation: « SIREIT: - ARTIT af3Fer-35y TCECIA MRS SAEITS (W1 - IFEAT FSHTA- S|
- IFETH WISSF SHT- SRfE| - WW@W%&@ SO FISHTT b IATT - (FaiT
FISRT LS AT TS fAGIAFT

19. Question: TSN AT TSN T (I TXASTA SHLTS FIRF AT 5?2
A) Jfeat

B) a3y

C) e,

D) 9I1e 246 T Fa1 3A®

Answer: This question has been canceled.



Explanation: 736 1o $a7 2@A®

20. Question: (T3 (B ASTHAT© JFE I I© ATHE ABHAG TG G M= I
FAS-

A) SISETR ST 2@

B) 9IS SIfod S TG SIE I I
C) SIS (6 39 T

D) SIS (6 (AT 2@

Answer: B) 35 SIfed MY To# Y6 3 I1F (B)

Explanation: « (RT3 (B ARG 3@ I IEN© ATFE ABHAC IS fed FIw JH=
FEAE AN (6F (J &

21. Question: TN FAIFTH JueN SIHH (FT JGF T2
A) TR

B) s/

C) =

D) (I3t

Answer: C) St

Explanation: « P11 F(fea Fuos o5 (IS [T SN |

22. Question: (FT N T 516 TICR© FA?

A) e

B) Ffdar =mmaf
C) R e
D) I s

Answer: A) 13

Explanation: » IFAT 9 =S SIfS TG FH|

23. Question: IFM(OF TN AL AEF TS FE I | (A TIHT N Tely AT (@1
TN 2l FIAEA?



A) IRE AT AFICTH (9@ ¥ FE WIS ATHE
B) (1 SITRE &N AT fH@s

C) IRE ATT MHoF T BT ATFEA

D) s & 07 AR

Answer: A) IRE 0T AFCTH 0@ JN FE GIIGE AHEA

Explanation: « IS=T@d STY Ssifey @ STRGT S I | fAEE ST AT efy Srstfey snfoa e
0T VFERA | - A (0T TFRIE AT snfSH (@ e I T3®|

24. Question: fF0TR SRIET PR STSIFe] fefT Fa7237?

A) Sfe%ee
B) afesam®
C) Afosiq
D) afesafer

Answer: B) gfeNa®
Explanation: « SSRIE SRS A STOIRO! [T FT 27| - (FT T4 TN (@ T4 FT T ©f

(P IO ©FT NG TF AT T " SO @6 ol ST, O (7R T JFA1JfS CTA1 A1,
@ 92 AN e AfS=RfeT I

25. Question: TR IAME AP MAF IF@F IF TIE 9% AT © @1 720G 97 Iwa@F
SRR foqse TS 8 (@1 W F97?

A) 89
B) vy
C)s8
D) x¢

Answer: B) wb
Explanation: SINT: &fF, WHE 9% $ 2, IPE@T AT (F+0) .. VWM = S0F +F+ 9 = 32§ +

O AP, SHF + 0 =O(F+P+9)+ B8 SSF - VP =59-0F ¢F =% .. F=1.". 22 =
NS XX+ 9 =3¢

26. Question: 936 TG LOIF A BF LEIT BF FEF IS© ¢ (FS ST AT, D TG S36F
HHIERT 00 P© NHY ABIF? F6IRI T ST I IS

A) 80.PNG



B) Yo (&I
C) 52 (RS
D) 5 OIS

Answer: B) So (&S
Explanation: SSE®: & BIF ¥9F b I T61 I S BT S T T61 IE I b BT I ©FF ST

516 LBIF INF IBE AT TTT6! ST S (RS TF97 I/ @ | S BIF I IYF H61 SR 517 I9F
AR BIFTF SS 6 T61 I@ (NG LS (TFS THY A |

27. Question: 3% (ST ©TF *n’ SRAF TSI B @ M fovef oS I6a G fet: V3 Ja
SR BT, 3T FAE S/8 T, 0T AR S/ IR A2 F1HH AfG TS 8% arw et D (SNATR STSIF 2]
Fo feT?

A) sooft
B) 200G
C) Svoft
D) 380f

Answer: C) swoft

Explanation: SIS TAENIE, (S} +5/8 +5/¢)n =n - 937, {(bo + ¢+ 8)Rojn =n - 997, bon =
30n - 380 .". n = Y80 TR, (STATEATH STSIF AT 3806

28. Question: b 35 Of 936 b TTONT (OB (ST (F, BT 916 ffey a1 20 i ST wo°
@Ter = FAET | YfO6 M (3F F© b S§© (67 HIAR=eT?

A) S BB
B) > 3o
C)w Fb
D) b %b

Answer: B) » b

Explanation: STT: 8T, NG (3 h 35 Tx® §fofb (507 I | AT s, sin30° = T/afegs 1,
SR =h/(5% - h) JT, (S - h) =X FT, ©h = 3% .. h = b IR, MG (@ b b Ogre 36 (@5 37|
29. Question: IR O AMIET BfSF T FHG?

A) TEWT (AF TFWT Toral
B) aFT%T (Y TP T



C) FI7 (N (TG Tort
D) T (N 5T Torat

Answer: B) a197 (A& T¥10T e

Explanation: » TN A@F SAAET H(®, IR SHT T To@ 3G M6 FE® | T (A&
Sew Toral g RN SRIF AMOIEF FSF1 @1 FA1 F| + T. JANSFNE SEINENIS o,
IREAT S S8 1S AT NF© (VF |

30. Question: (Xf5IF IET ANTeT 3 {F7?

A) a5 6 8 AF6 T INEVT TR IS S5
B) af6 WY@ 3 9Ff6 e TN FRIET A7 STo
C) 9t 3T AT RIS 175 S5

D) 4fG STaeT INEIF SN A1F ST

Answer: D) 9ft & IIEE RIS I35 1o

Explanation: - 956 (A& I SIres 8¢ (R 4o WA INEF TR 1F5 61 + (A1 175 -
AFIEF N I (P AT THT Y& 2 AP6 I35 519 FAE O JNfIF I35 IE | TSN: NS
BHCEET

31. Question: ‘TEEF fowr IEEFTT I fF2?

A) I 28 e

B) STy ey foVey 3/sTGT TN
C) JASF (7

D) fo= srnfe

Answer: A) I8 38 1S

Explanation: « SIS0 67 - foF oPNfe | STy Srsrer: N0t I - AfAE 38 TS| NI [HF - AAGD
(@1 Bz IRAT BT @ HIfRey FRH-G. (NfSva Cr=|

32. Question: (FAb 2RIV 31T T%F 97?2

A) ST T

B) 31 WAt Y
C) oI/ fAraset

D) FEIACH FEH



Answer: C) (STT1E e

Explanation: « 31215 4T aft® 163 - ST AP - F5 FIRAN- RIF 1819 Fa| - 51T - (A
FrFeT| « SN, I A FET AbE Frowr a%- $5I70 Fa91 T3: TFa IRAT FI-18, GUsHa
|

33. Question: (FF TG0 'TeOTT A TTITO?

A) o1 F15
B) TGAG3

C) =TT

D) G FMT

Answer: A) 911 F1%

Explanation: « 3G ST/ A6 FET 97 3 = TEST5T

34. Question: FF THUAT ‘N2qW TOIFF IV IF* M@ 27?

A) AT (ST

B) ferag o
C) "miAtem g

D) %964 89

Answer: B) Ta3, fira

Explanation: « J5T SRR FfF HIF6T 33 (SBO3-SBED) 70 I 8 TRAMF @l | - Spos ST
BIF THAY AW ToIF NIRRT a9 REE IFF e @3 b o> N IRAT 1T I GiAF
ATap] 5(3(3 8$||;I® R

35. Question: A speech full of too many word is-

A) A big speech

B) Maiden speech

C) An unimportant speech
D) A verbose speech

Answer: D) A verbose speech

Explanation: « (T I&& A3 (I =1 (words) T TSI A&, NR©IT 8T ©IF I Verbose
Speech | » Verbose (adjective)-containing more words than necessary



36. Question: To meet trouble half-way means-

A) To bear up

B) To get nervous

C) To be disappointed
D) To be puzzled

Answer: A) To bear up

Explanation: + To meet trouble- SST5T (STSTE F4T 932 halfway- S| 18 & (NFETH
SR 2T (G (V-] 9018 2@q[& 23T+ To be puzzled — Toq(% 23711 * To get nervous- ©F
I8 + To be disappointed — o1 28371 » To bear up- ([AE&@) & AT

37. Question: 'Paradise Lost' attempted to-

A) Justify the ways of man to God

B) Explain why good and evil are necessary

C) Show that the Satan and God have equal power

D) Justify the ways of God to man

Answer: D) Justify the ways of God to man

Explanation: « Paradise lost (1667): « Paradise Lost 333 {4 John Milton 95 aFf6 epicl « a
epic AT 7= “Justify the ways of God to man”. « The greatest epic in English.

38. Question: What is the meaning of the idiom 'a round dozen'?

A) a little less than a dozen

B) a little more than a dozen

C) round about a dozen

D) a full dozen

Answer: D) a full dozen

Explanation: « A round dozen — TfW/b)Tﬁ 18 A full dozen. « A long dozen or baker's dozen

means - Thirteen; 1A} Sofp] e

39. Question: What is the meaning of 'Soft Soap'?



A) To recognise about a dozen
B) To speak ill of others

C) To speak high of others

D) Flatter for self motives

Answer: D) Flatter for self motives

Explanation: « Soft Soap (TFIEST F41, (GT™ FA1| + Flatter for self motives- fast
AfSNT/ATSTH® (G FAT| » To speak ill of others —aHF fd=1 FATI « To speak high of
others- ST =% OF FATF41 * To recognize other’s good deeds- AT ST FIETHR JIH©
STTRT 31 Fipfs (73|

40. Question: TeSdT, F5F, FEX 8 T (F1F AT SAN?

A) Tt
B) 7@

C)
D) 1t

Answer: A) J3[e(

Explanation: » @™ - (F1F Falte AT (F1F T4l o6 2 Af6® TaIE STt I T | - THA 91
TSFAA! - N 3 JASAT| - N A6 RN ScT Wifdiferz a7 fAF6ISt TS 74 2@
T T SIS T

41. Question: 'fRICEF TITT’ TS SIRR YOF F© ST HB?

A) IREAT Y90G ST

B) 2@ S ab NI

C) AT S0y T

D) TRAT 59 T

Answer: C) IRAT 9094 AT

Explanation: « 'fRIAGET T98F': - TG F12© (G0 N 533 FIAF FAE (TSN 56 I (@FPonfag
© AT TTHAF FHST AF TN M8 | - TF BT IRTT 95 Aoed T F SfoeTers JfE 27|

42. Question: 'S (Y@ ATSAT AW AERT AREF AT73 - 6 FIF (TFAT?

A) foeiita
B) Hf$q Fow M7



C) TSt 7T oA
D) y for

Answer: C) 218! 7RG ST

Explanation: « 97 3T: - 218t AT@aR $9% G SRR (Se¥ SqsR FEA| - HATISN
AT T (F4 oo BT (SR 932 O1F (Fory A6 8F 271 - TG THIQARA [T 79
SRS ST (ToF (e ©FF a7 B -

43. Question: JIFCIS 2F FTNE 91 fF fef?

A) FIBS

B) =TT NS
C) xif<emrE
D) fsrnt

Answer: B) SIS q1FTF

Explanation: 17019 =12 1% 21fimg azene

44. Question: AT Fat (FINT A6® A®?

A) CTET

B) IGIISTE
C) IR @

D) =TaT

Answer: D) ¥

Explanation: « T3« (Jamuna): - FFAAMRE (SeTF (R3FSNET TR THIES ﬂaﬁwwﬁw
wfpe e gRe @@ aff (TR @6 T S e 2@ wipa-J3fa o e 3a1ze
TA®| a6 ARTACTR S i |

45. Question: IRATCTE TIGEF SIET (S| (FIAG?

INEIGEIRERE

B) SrFis
C) fenem
D) %S

Answer: A) TENE26



Explanation: « S@T6! 21, S, (S: - IRATWCTT S SIEF NN@T6! 2 IRTAHTI -
IRACTR N SOEH SO (OQeT| - IRITCCT 5 SIS (Sl APSTG | - IRAICTR N J&ZF 30
SRR |

46. Question: WSl FRIF Ja1F T (5?2
A) T

B) (*1091

C) 383

D) 339

Answer: C) 3539

Explanation: - S« : el (FIRI JaT ARTOIS - - (T - FfeT R v - 3@ : SN el -
ST : SIeTa 3T - T : YRS 34Tl X o1

47. Question: AR JRIANS SUFRI® TTARIFIA! ST AMRA Wef2Ha TPy 572

A) UNIMOG
B) UNGOMAP
C) UNFICP
D) UNIIMOG

Answer: B) UNGOMAP (United Nations Iran-Iraq Military Observer Group)
Explanation: - STfo:T 3qF-2919 THEF TX@HF 57 (UNIIMOG)| - S>%'% ST A5G AT

RATP-3TT JRHIIANS fAFCOPACEE ST Ve 1fd© TWUNIIMOG)| - 23S WETH (FFMM©
3F-39 J@fAaNe STRFIF 95 @ TF0T UNIIMOG FF SeyRiF 3471 23|

48. Question: afe T2 AEIT T (F1afvd 7 AT 93 (World Habitat Day) *nfere 2@
AF?

A) 0¥ (TRRTR
B) faSix CTeEE
C) OO TP
D) S (TAE
Answer: B) 51T CTRaE

Explanation: « UN-HABITAT: - ST SIF (2Ife (PN AMe¥a S fAfersier 761 & UN-HABITAT -



FENFA- 299 N - 9T G- (FATF TRE@ET| - UN-HABITAT 97 ION A2} - NIRRT
IR 8% (NEFE T15fEF) |

49. Question: (FAG JMONER I2JT 3 AF-TRAF NI IFIIEH NS TEIH?

A) UNV

B) DTCD
C) UNFPA
D) UNDP

Answer: D) UNDP (United Nations Development Programme)

Explanation: « UNDP: - Sfssikg a3« 3356 (UNDP) - UNDP a3 <& United Nations
Development Programme 37 SITOSRE SHI FHYL! | - SHIATNT (T TI[@ FI0H HH G0 I32F
AR 0 SRS RIS FAT 93 T ST |

50. Question: FNHEH (F1 (07T ©FT?

INECIRE]
B) (Fe1f&m™
C) TR
D) o1

Answer: D) I (Spain)
Explanation: - G 5 932 S8F-9F Cod S| - TP AITHT FTSIEAT 973 SIEFIR

AT A6 ST FOIT | - FIGITT S FAT I HIHA IV APE AL | - A=[GT3 FoIferd
TGAIE SACTEET =@ ST FT I FHoFT ST |

51. Question: (FT NTeTF FT6T TT&?

A) T3
B) fae

C) Fait®
D) STTsi&

Answer: A) 5$E (Pond)

Explanation: « SIS STeTH F161 Y2811 - THEF TV (6T TS Mfel(e HST P61 728 I TG
TfE Feg Farg M 31 FEF Mg &F @R - @ =fag gag G o7 e SferF #1671 5291



52. Question: "AfSFITER’ Feite fF FaNT?

A) SBIF @ A
B) SIGTENRIS J5ET5Te]
C) T1& e fR3Fiw
D) =N 3w

Answer: D) sif¥=es g3

Explanation:  AfSTETR Feite JIF M= TG fFwm| « afSF1Ee1F (Aviculture): =Y =Tere
s fAme SR I - (@ FWE AT 68 @A 8 IPTIE @ SEeA 41 3T oI
AfeFFeIF IE

53. Question: F PRGIT S F© [FETSH 2J?

A) s fRETSTsT

B) So s
C) Sooo fRETSIY
D) Soo fReeTsms

Answer: C) Sooo fSeTsmsy
Explanation: « 9% $RGTT S8 Soo TSI 27| + (1 T (A (T I 7171 ©TF (300 0

AFH FF ONF P ITIF 3G JE| - ST FAFANT 9FF I [AS 6| - FET 2 0@ 9551 »
Soo fHTEAISIR= & PRLI| * So FRBW = S b

54. Question: (F1F FET FIT 51 STSTOING ITST T2

A) STaT

B) {7
C) =T
D) FTE

Answer: B) §59
Explanation: » ST ST T 51 T© 13T ZF| - FIFT FIE T2 ©1F CTHT FA© M| - ©FF NF 7T

TH O 93] (V@ 9T ST I3 TREe 31 - ATE 51 97 I I 20% g o1ty 5w
O O] T O (TR F& (& 932 51 o &FaT @ 10T 2 &

55. Question: NIHTRT TQfos NI (SOF NEHNFT® [ ST I F1 2J?



A) SIHE
B) f2feram
C) ferzey

D) FRETE

Answer: D) qRREE

Explanation: « TS [T 3M6% @ (SOE NHTHNS AREISH ST IR0 ST 7T | - & TS
RAeF NG AREEW 432 [BSINREG ISf ST FTaz© 2ol

56. Question: S fagEE T T TRET IAHE © 3 8 (NHRGIF JT 97 ANGGEH ATl
F97?

A) b GL.A

B) 9 (%.fA.

C) v (1A

D) ¢ (..

Answer: B) 9 (..

Explanation: ST&TS: ST S, (SAMGSN)2 = (SN2 + (F77)2 FT, AFGGS = V(02 + 82) = V(D + db)
=\x¢ .. Afegs = ¢ RFeE

57. Question: 36 ATSFF F@F WHf 0% JG 3 TF 0% I FAT 2, (FawEd ToId] 9
Ffa3ed 2@?

A) ot % (1)
B) v% (™)
C) s0%% (%)
D) % % (%)

Answer: B) v% (Z1¥)
Explanation: SSET: N {4, GHff = x 9%F T = y 933 .". (Fa%e = xy I5f 3% 0% (@0 A
Wy = X + X 97 20% = bX/C 9FF 9% $0% IMT AT T = y - y 97 0% = dy/so IFF .". TG

GFa%me = (LX/€) % (Dy/So) = 9xXy/R € aﬂ‘awmqﬁ = (R9xy/RQ) - Xy = (R9XY - @xy)/xy =
XY/RQ TOFAT (Fa%He o = {(Ixy/R¢)/xy} x $00% = %

58. Question: (FTAM6 THINEH (Fa%e fof@ a2



A) SR (BT x THeT)
B) W x %

C) x (s x %)
D) ©f¥ x el

Answer: D) B3 x %ol

Explanation: SST&TS: SISET S, TBRGEE (Fa%e = $i x Tl INBHE [T78te I=aET ST+
3 TABAT | NNRHFT FAGT TIONT A | THBAET FFT I TTF T 3 0 F TARAF 6
e a (T |

59. Question: 1/2 {(a + b)2 + (a - b)2}= F©?

A)(a+b)2+ (a-b)2
B)a2-b2

C) (a+b)2/2-(a-b)2/2
D) a2 + b2

Answer: C) (a + b)2/2 - (a-b)2/2

Explanation: SIEE: SINET Sfd, 2(a2 + b2) = (@+b)2 + (@a-b)2d, a2 +b2=1/2{(@a+b)2 + (a -
b)2}

60. Question: am . an =am + n F¥J E[F?

A) m TS T

B) n eI (T

C) m TS 3 n TP (T
D) m 8 n 8T R

Answer: C) m 59T 3 n TP AT

Explanation: ST = m 3 n §9F RANFT F@, am.an=am+n=>a#0X@,a0=1=a#0
933 n Fre1[F AT XE, a- n = 1/an

61. Question: ‘gria3’- ag 1Y fF?

A) TISOET SR

B) SN0 3 STTo@d NEY WA fFH
C) TNSe@E HAIA® Toaed oo

D) (XTI SAETEAT




Answer: B) SISO 3 STOET T SN fF&7e

Explanation: « STNa3: - g15aS S (AT G| - SEP (NSTS 2SAIE SAIAEF (F@ I
AT (T AT B AT ©TF Ty ASANOF TRFIF 3 ST TS el | S IS5 A1TTS
TS r=er Fa7 27|

62. Question: (FHMG FIFRET 57 TGO 77?2

A) IBRD
B) IDA
C) IFC
D) IMF

Answer: D) IMF
International Monetary Fund

Explanation: 9@ F 5557 51166 W37 s 8@ | A8ET 2@ - IBRD (39 &9 s8¢ AMGET
1 BT FHFF) - IDA (8 (TBTF S5 b0) - IFC (0 FFTR b2 Y) - ICSID (58 TETRA S L) -
MIGA (53 afFT S5 6 w)|

63. Question: @FE6 "SARMN -9 AFE qI?

A) IRESG6F AT A9TS
B) STT&Eel 6T

C) TS SIS TIRF

D) ISl sy SFld (F9

Answer: C) 3T ST JIRF

Explanation: 33 -7 IR TR - - ARHGF ITH AWTO - ST HCITAT - IART SHIF
T[T

64. Question: F¥F (@ AT THIF TR (AT BF 27?2

A) SDL¢ S

B) S»b % I

C) S»49 N1

D) S»b Y ST

Answer: A) SU¢ ST (A) 1965 ST



Explanation: 35T TFIF kT : - 97T THIF I9:F (ADB- Asian Development Bank) a6 =3
R @TSTS{:;, SDLY N AR A ﬁé CEIC) I B8P FE S @(ﬂﬂﬂ. , SLY A - .‘J%W?ﬂ%@—ﬂ'
S9d Y3 A3 (el REa Wfaey|

65. Question: SIFGIY Se] MHF Ne AEFe FPAINWE AT AFN@ AT 20|

A) SITeTREF FTaTE T STSIE TS

B) Se(eT] e SrpTAT SEOsTyT ST A7

C) "NfFINHT S (@57 e o1 fr@ T8 AN AfFere Far
D) SefIaTe (@ FrME [{em T{mr senmg FA1

Answer: C) TfFII S (@157 fore a1 @ Ivifls A sifFere w1

Explanation: - ST361Y Sae] b N(® SIEFS FTA[GE SRACIE AFH@ STHHT 2(%- KT (@
FPNER O W ToyRT AT SNE: 6T O e |

66. Question: CNfeF = (FAH?

INIQIGE]

B) e

C) @&

D) (STt

Answer: A) (NFF

Explanation: - SEA® 907 GNTF <=1 30 (ST » GNeI <=1 (AT 1% QT F97 T 1 T (ST

S FHT I FT, (FSENE T X141 | (T - (ST, A1, 677, 2Ne, Hel Feviiv|

67. Question: TF (T 7T (R, ©P JSTHEHT U SFTT FAET (F1AG 24?

A) SIRTFT

B) T TV A1
C) oa fa¥

D) i@ F1AT

Answer: B) @79t I@F I

Explanation: « J18 (1o 5 (43- GIEH JT| Sl ST STPIFT- T7S AN o1, Qe I J1 -
ST WY, SPF 37 - AT F e[|



68. Question: ST ISV FIT ToT FET (F?

A) DTS

B) (RSNSOI
C) 139 RT3
D) %4 sIAFAR

Answer: C) (539 2158

Explanation: « S SIRea 33 S1¥F 8 T3 S B ST | - ol "ot 20w F175 T6e71
FEA| + TFF TR AT FIIT- - ANF TFIST (AT I77), - (NATST, - SHARTY, - TSTHES X 3 -

3OS (ST

69. Question: I 7 TN fF?

A) g forfsy
B) Star faf

C) St forfsr
D) Rt feify

Answer: D) arar s

Explanation: « IR ff5F $&F 2@ arH! [0 (AF | - O IRAT IAFENF S Tt 0| « Irmr
feif3ra fSaft &7 @@ - NFwI, - A 3 - PioeT| - FioeT F7 (FF AT IR

70. Question: (FHG [ACET IBF T97?

A) SiEq

B) Sta1g.
C) Sifa=zr
D) Siaat

Answer: B) fﬂ?ﬂ‘j\
Explanation: « §3a, Sif3%1 8 §a1e {05 3167 =11 - St 31 I 7 FE@ 9577 g SIS {0

%, 7o Sixagerm 31 Siaa F1fRAt o SIS {05 IBF | T: IRAT ICIF BIF-S1T, ALTTF .
Cfa |

71. Question: I I=?



A) T Jaow

B) 9357 SHIfH® Hig®
C) sRfad Ffeay F

D) =R o < =61

Answer: A) TS Fao 9T

Explanation: « & fA( 73 561 A1 o=@ 3 IET1 - SR oY TIPT FAR TR0 6% TRE I
| - Fef RO PR F571 &R 2T FIO 57| TS: IRAT S IFAA, FIF-771 (el |

72. Question: People who assume that no evil can befall them are foolishly-

A) ardent

B) apprehensive
C) confident

D) complacent

Answer: D) complacent

Explanation: (78 IHHGI ¥ P N (7A1F, I N FE (BT 12 BT Tod F61e NE o,
(@I o1 93T, * Ardent — SIS T AFH, Sfe IR » Complacent- JTAQE, A9 *
Confident- ST « Apprehensive- Sfad, k¥, TeFPe | « AEY OFT 4F [, SF oo
HB1 8T a7, FS2 OIF] (A& 6@ W& 7 M9 |

73. Question: One who unduly forwards in rendering serving for others is not generally
liked in society.- Which of the following words represents truely the character of the
person mentioned above?

A) benevolent
B) official

C) burreaucratic
D) officious

Answer: D) officious

Explanation: * (¥ T5f& e @ ITEFT 5 AT AT ONF THFISNT JI2 AT FE|
Benevolent- W1, STarTy, Sexte | « Official- fifemia, se@ifas | « Officious- S G SRIAY
FE 99, FOITARA| « Bureaucratic- SIETSIHF | + (FRQ (7 A0S TRAT FE, FIH2 (7 T
o {1 AT 77

74. Question: What kind of man is quite the opposite type of 'supercilious'?



A) Wicked
B) Haughty
C) Disdainful
D) Affable

Answer: D) Affable

Explanation: « Suppercilious-@'ﬁ@ﬂ?ﬂ * Affable-3g9 161‘311‘5_9"1', * Haughty- SR FIat, « Wicked-
el

75. Question: How many eggs have your hens___this month? -Which is the following
words best completes the above sentence?

A) lain
B) lied
C) lay
D) laid

Answer: C) lay

Explanation: « Have 93 5 verb 47 past partciciple 2J1 « JF ARY FoT I, FI&2 {7306 &7
AT S =& | * Lay- ]%N’*TIET, Past — laid, past Participle — laid, * Lie- {3571 ¢TI, Past — lied,
Past Participle — lied, ¢ (ﬂ(ixgﬁw ST (lay) a9 Past Participle 2|

76. Question: The walls of our house have been painted green. -Which is the
correct preposition in the blank above?

A) with

B) by

C)in

D) no preposition

Answer: C) in

Explanation: « Paint (verb) to cover a surface with paint « 33« painted a5 *(d by, in, with
BIERGERKII

77. Question: IR TN STIAT @FF ©IF slarsifzIm THf*re 23?

A) s fEOE, b0



B) b fO0TER, b9}
C) b FT6, $9
D) SX ABIRF, SDR

Answer: B) b fSEEF, s>9%

Explanation: - 9% S b} A1 STRIGH F61T ST T2 FRE Q0T 39S SfFwa {7
AFNE ST FE |

78. Question: SR N S FAT ST AT [FOIF S @ w=eT?

A) 9% TEEANGF FOIF
B) 93 STRF(GF AMTIE
C) 9% TG TS HITF

D) 9% QA ST (GO

Answer: D) 93 aTod ST (b0

Explanation: « $>@3 ST GSFA ST WA AF T SOIF (GO S @ | » IR ST
ST 2T 5589 (FF S¢S TG YT T IR (IS IRCT) & fow 9776 TRFhos 3
ASASF AT |« GNIfeTF AP THFE IR SRS NE 8 4 AN NETE ST e
FI SAERTETH Svex AFSHAT RROTE ASHTF FEFs STwmidia IR TF T =G |

79. Question: (SIS SE FIFNAT TS A0 FE 1 {572

A) foastfsr

B) TGN STEI&6
C) o7

D) 25fFaT

Answer: B) AGIT S0

Explanation: (TG STF SR TS *Mfwe NE 13 81371

80. Question: IRTT@CTT FT A2 F© (HGNOIET I GERT 2 6T N&F (T N7 fTFTH?

A) v (IFGRIGE
B) o (BB
C) ¢ (GG
D) 2@ (fBRIGE



Answer: C) 3¢ (BB

Explanation: « & SGFTH 9T FARGTH A X AB-vD¢o THITSTT ASHF TRIHeT R Sd¢o
NG TS|« [AEETE (71 TR 8 SoAaH qTR= & AT e [HG T@F | 2 F
GRPA THPT AR S, TS 3 Fad T, oaewwa Fonit (3@ FheTy {3 fowe smEmt s
S0 HIET A IR T FE |

81. Question: IRATCTT T SIS ATl FTFNAT (FINT AIF0?
INEIGIRBRE

B) FHIONT

C) 589

DERE

Answer: C) GBIy

Explanation: « WO ST SRS fsfier ST RURIERSE! 59|

82. Question: T TYMWET (F@ (F1H (TISTNE ‘(SIS BIIGET Jel] 27?
A) FrETeeTE, RIS 3 B

B) 3914, &SN 3 MNfFSe

C) fETeE, IS NasT 8 FEFeAT

D) FrEas g, RS 3 189

Answer: D) SII&TE, ¥RTS 3 TI8Y

Explanation: « (SIS IR 11, Bi, 185 93 ARNISF 3% 97 FF®|

83. Question: O™ §fe F« TFfTo 27?

A) S24¢ TEF b (T6TT

B) S b¢ N So (66T
C) b9 STETH wo S
D) 5244 TEH So T

Answer: A) S»b¢ STEF b (6T

Explanation: « ©1593%™ §f& THEHS 27 b0 b SEF So SIH|



84. Question: e ‘e 5afts fbasa &2
A) TR SIS

B) ©yI&sTe

S EICGIRECII

D) fersanmr ws fof%

Answer: D) faaammr o fof%

Explanation: « fgaTe ' Granfersr foafta foasa fergamr wr fof |

85. Question: (@1 (Wb IMAIACIF TGS 47?2

A) SEH
B) FTAT
C) 9r=RaRRd
D) 39

Answer: D) 3319

Explanation: « IfSSFa swt: a o1 287, S mn, frg, @@ee, so, 23ee 8 Ciift Eg |

86. Question: (FFG Wi AT IB(FOF (F@ TIGF FF RFT [T797?

A) =3t
B) ofe
C) & 1

D) W:%fe
Answer: C) [T (Language)

Explanation: » <%e wfffer A" FoEies ($@ FIEE T 1RFR {37

87. Question: fAGF (FH IR SISSF TMHAANEF FOCN Frowias?

A) STET

B) 8@

C) 21T

D) S 796 1o $41 2 @

Answer: D) JTE1



Explanation: T35 F1fee Fa7 2@

88. Question: (F1F ITRF IRATICTH TTTSH SFAGTONE 3T 7T (@7 8 0T ST FFe@=?

A) 3 IR

B) 2N RS

C) T TIRF

D) SISt FIRF

Answer: D) ST IIRF

Explanation: * ST SIRF IRAT@CTT THTON SAGTOIE 3T 0T (0T 8 fR{AEWeT Sy Fio@m|

89. Question: T FTTS FETF AL HIGTNT 572
A) ST (RITOT

B) Je-35TGT

C) SI=peT TR

D) IrT

Answer: B) J-Y5TST

Explanation: + 5G] F15181 FEF T FIGHT J14] »

90. Question: FRAWCTT STelF TolFF fCHRNF (F?

A) TR T
B) Syl S fvey
C) M0 A1

D) FFT 2

Answer: B) S¥ee S el

Explanation: » SO 61 TeTPIF (GRS FES IRATECTT TTO foaf it S 2T |

91. Question: YFIANE FH ST TSI (RN FT T2

A) 20 16, 5%
B) So F(8FF, 5295



C) & (T66EF, 29
D) So affe, 395

Answer: A) b T, V9%

Explanation: « (TRATA (S YHITE S99 SEF So A3 strzaod! IRAWCTE 33 I3
SO® TF |+ 59 A3 7 7T FE@ |« 59 AT FHPF 97 TS5 A THTOIF (FFT=a 71 FEA| »
$29% STEF 3 W6 IR TIH o7 (T 97 27|

92. Question: Can you tell me where ? Which of the following is the best clause in
the above sentence?

A) does Mr. Ali live
B) Mr. Alive does live
C) lives Mr. Al

D) Mr. Ali lives

Answer: D) Mr. Ali lives

Explanation: « WH question word (When, Where, While) II& S I 99 519 SAS{A Verb I07
1« IR Tgd F@ Subject Verb I | « fF&F (¥) (T ATFEAT does AFH |

93. Question: What is the full name of the great American short story writer O'Henry?

A) Walt Whitman

B) Mark Twain

C) Marjorie Kinnan Rawlings
D) William Sydney Porter

Answer: D) William Sydney Porter

Explanation: « O'Henry a5 (&7 9. William Sydney Porter. « William Sydney Porter a3 IBRIIS]
HROTH

94. Question: Now-a-days many villages are lit electricity. - Which is the correct
preposition in the above blank?

A) with
B) on
C) from
D) by



Answer: A) with

Explanation: « (¥« &% SITIfFe FH1 1 AR F91 JA light by T59%w 271 « light verb a7
past A} past participle form X lit/lighted. « (I9- The house is lighted/lit by electricity. « ©(q,
ST forzet fReTE, STamfE (@1 55 21E1 SenfFe 26T with TR0 231

95. Question: The second anniversary celebration of our college will be held on
December 15.- Which of the following is the correct phrase for 'will be held' above?

A) takes off

B) will come round
C) will bring about
D) comes off

Answer: D) comes off

Explanation: « Will be held- 31f%® 2(d1 * Take (s) off- S%IA 41, S| * Come (s) off —
TREH® 28T, FF® 28| * Bring about- TEGAT FGIET, e AfHT6S FAET + Come round —
AT TS F1, FIMOE 3T

96. Question: Dog days means-

A) a period of being carefree

B) a period of having youthful flings
C) a period of misfortune

D) hot weather

Answer: D) hot weather

Explanation: » Dog days- I%&@d S®© N9F| A period of being carefree- fssfag 57| « A
period of having youthful flings- (IH13T ﬂltﬂlﬁﬁlxﬁ. N3 | « A period of misfortune- ﬁ\@‘(‘iﬂ? 37|
« Hot weather- 5% 321337

97. Question: TEFT ¢ BIFT I M 0 TR S-S ¢o,000 BIFT T JAHT F©?

A) 0,000 oI
B) @t,000 DG
C) wo,000 oI
D) x¢,000 BIBT



Answer: B) w¢,000 BT

Explanation: SSEE: Soo BIFIT S ERIGER Nt BIFT .". Yoo BIFF 0 TIREF 5 (€ x 0) = Yoo BIF1
SIS = Soo + Yoo = Yoo BIFT AT 00 BIFT X DAMET So0 BHIFT .7 SARTT S HIFT X AT
yoo/x00 BIFT .. S[ATsTel ¢oooo BT 2 AT (Yoo X ¢ooo0)/300 BIFT = 3¢ooo BIFT . . [eTHef ¢oo0
B3l

98. Question: FF T THRIWT HITFT (FAG?
A) 5950-5519

B) B 2-5d LU

C) SPoa-S299

D) $509-559

Answer: B) S-S50y

Explanation: T&FE SHNGH *5pow SER S SN HATIET ST S Sz FEA |

99. Question: FIGAN FTHEF @ THS5 FfAO FIF Sl (%=

A) BT R STOIH T8 BF 27

B) 31I-fa+1fg oo argER a8 3
C) 3% e Pyrha wftFrat

D) sfys fafea 8 R SE"amy

Answer: B) IT-Rfs afse1@ og@E? [Ra8 &

Explanation: « I-a1Y SIFE FiTe! @ I707 (NS 2 FeTe 779 F9, @FHE AT A0 77,
(@A AP ST AT TSTe T ! 9 A (F (F 98 0 @ ST SO &7er) | 97 TA7 SfIATS
fafba 8 [ TERAEE @ @®|

100. Question: NfeaEF RCTTT BE-

A) TS

B) =i

C) farfezer

D) =&t

Answer: A) ST

Explanation: « (¥ % FE] (19 9F ST6IT AAT T AR T STETIT 1 (FRATT ©F SGA6F e



JE| (@E- [, T, q69, 7 2evl



